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ABSTRACT

This Project present the methodology to solve vehicle routing problem (VRP) for
Varinthip drinking company. In this study we use heuristics and meta-heuristic method to
solve VRP for the case study. We use three methods which are (1) Clarke-Wright Saving
Heuristic (2) Nearest Neighbor Heuristic and (3) local search (ILS).From the computational
result it is shows that all heuristics generate poor solution when comparing with the current
route that the company is using. Clarke-Wright Saving Heuristic increases cost from
107,199.84 bath/year to 157.498.08 bath per year or 46.92% cost higher than current
situation when Nearest Neighbor Heuristic increases to 117,430 bath per year or 9.54 %
increasing and ILS increases that the cost to 2425,659.68 bath per year Or 126.36% cost

increasing.



